C:h Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
8+ (-2)? 1/ ) _4/ o 1.
A.-8+(-2) 61 ( i)
B.8+(2) A. 7g+ (/) 2
C.-8- (+2) 1 4
D. 8- (+2) B.-75+ (+/9) ;
1, 4 :
C. 75- (/9
1 4
D. /- (+/4) 4.
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
-90.12 - (+4.56)7? -2.13 + (-7.3)? 6.
A.9.12 - (+4.56) A.-2.13-(7.3)
B.-9.12 + (-4.56) B.2.13 + (+7.3) 7.
C.9.12 + (4.56) C.213-(-7.3)
D. 9.12 + (+4.56) D. 213+ (-7.3) .
5)  Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
7.6 - (+9.8)? 5+ (+9)?
A.7.6+(-9.8) A.-5-(-9)
B.-7.6-(9.8) B.-5-(9)
C. 7.6+ (+9.8) C.5-(9
D.-7.6 +(+9.8) D.5+ (9
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
45+ (-7.19)? 3 1
( ) -/4 - (+/2)?
A.-45-(7.19) 3 1
B. 4.5- (+7.19) A.74-(+75)
C.-4.5- (+7.19) 3 1
D. -4.5 + (+7.19) B.74-(-7)
3, 1
C.-74- (/)
3 1
D.-74+ (+75)
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C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to D
8+ (-2)? i, 4 1
(-2) Te-(-79)?
A.-8+(-2) 1 4
B.8+(2) A. 75+ (79 2 B
C.-8- (+2) 1 4
D.8- (+2) B.-75+ (+/9) . 5
1, 4 :
C. 75- (/9
D. 75 - (+7) 4, A
5, A
3) Which expression(s) are equivalent to 4) Which expression(s) are equivalent to
-0.12 - (+4.56)? 213+ (-7.3)? 6. D
A.9.12 - (+4.56) A.-2.13-(7.3)
B.-9.12 + (-4.56) B. 2.13 + (+7.3) 7 B
C.9.12 + (4.56) C.2.13-(-7.3)
D. 9.12 + (+4.56) D.2.13+ (-7.3) . C
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
7.6 - (+9.8)? 5+ (+9)?
A.7.6+(-9.8) A.-5- (-9)
B.-7.6-(9.8) B.-5-(9)
C. 7.6+ (+9.8) C.5-(9)
D.-7.6 +(+9.8) D.5+ (9
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
45+ (-7.19)? 3 1
e Yo Y2
A.-45-(7.19) .
B. 4.5- (+7.19) A.74-(+75)
C.-45- (+7.19) 3, 1
D. -4.5 + (+7.19) B.74-(-7)
3, 1
C.-74-(/2)
3 1
D.-74+ (+75)

1-8 [88]75]|63|50|38[25[13] 0 |
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C:h Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
4 1 3+ (-4)? 1
/10+ (75)?
104 ( 2)1 A3-(4)
A.-/19- (7)) B.3+(4) 2
C.-3+ (+4)
4
B.-/10+ (+7) D.-3- (+4) ,
C. 710+ (/) |
D. 4710 +(+ /2) 4.
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
1.7 - (4.3)? -8.8+ (-2.7)? 6.
A.1.7 - (+4.3) A.-88- (+2.7)
B.1.7- (-4.3) B.8.8-(-2.7) 7
C.-1.7- (+4.3) C.88-(2.7)
D.-1.7 + (+4.3) D.8.8+ (+2.7) g
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
6+ (+1)? -9.3- (-8.86)?
A.6+ (1) A.9.3- (8.86)
B.-6-(+1) B.-9.3 + (+8.86)
C.-6- (1) C.9.3-(-8.86)
D.-6+(+1) D. 9.3 - (+8.86)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
1 1 6, 3
Yo-(/9)? -/5-(7/10)?
1 1 6 3
A.-/5-(+7) A. 7+ (-710)
1 1 6, 3
B. /,+ (+7/p) B. /5- (710
1 1 6 3
C.-/2+(-/6) C. /8+(+/10)
6 3
D. '1/2"'("'1/6) D.-/g+(-710)
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C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

1)

3)

5)

7)

Solve each problem. Answers
Which expression(s) are equivalent to 2) Which expression(s) are equivalent to D
4 1 3+ (-4)?

/10+ (/9)?
104 ( 2)1 A3-(4)
A.-710- (1) B.3+ (4) A
C.-3+(+4)
4 1
B.-/10+ (+72) D.-3- (+4) A
4 1
C. /10+ (-75)
D. 710+ (+75) A
A
Which expression(s) are equivalent to 4) Which expression(s) are equivalent to
17- (43)? 88+ (-2.7)? B
A.1.7 - (+4.3) A.-88-(+2.7)
B.1.7 - (-4.3) B.8.8-(-2.7) D
C.-1.7-(+4.3) C.88-(2.7)
D.-1.7 + (+4.3) D. 8.8+ (+2.7) D
Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
6+ (+1)? -9.3 - (-8.86)?
A.6+(1) A.9.3-(8.86)
B.-6-(+1) B.-9.3 + (+8.86)
C.-6-(2) C.9.3-(-8.86)
D.-6+(+1) D. 9.3 - (+8.86)
Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
1 1 6, 3
Yo-(/9)? -/3-(710)?
1 1 6 3
A.-/5-(+7) A. 7+ (-710)
1 1 6, 3
B. /,+ (+7/g) B. /5~ (710
YT A . Y+ +7)
3
D. 7+ (+7) D. '6/8 +(-710
1-8 [88]75]|63|50|38[25[13] 0 |
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C:h Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
-5.9-(8.6)? -7.6 + (+2.65)? 1
A.59-(-8.6) A.7.6+ (2.65)
B.-5.9-(-8.6) B. 7.6 - (+2.65) 2
C.5.9- (+8.6) C.-7.6 + (-2.65)
D.-5.9- (+8.6) D.-7.6 - (-2.65) 5
4.
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
2 3 3.7 - (-4.9)? 6.
/10- (+75)?
102 ( 6)3 A.-37-(-4.9)
A.-710-(-75) B.-3.7- (+4.9) 7
2 3 C. 37+ (+4.9)
B. 710- (75) D.-3.7 + (-4.9) o
3 .
C. 2/10 +(+79)
2 3
D. 710+ (7¢)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
6+ (+2)? 8- (-4)?
A.6-(-2) A.-8- (-4)
B.-6+(-2) B. -8- (+4)
C.6+(-2) C.8+(4)
D.-6+ (+2) D.8+ (-4)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3/9 .\ (3/4 ’ 2.9+ (4.17)?
s g A.29- (-4.17)
A, -/9- (-/4) B. 2.9 + (+4.17)
3, 3 C.2.9+(-4.17)
B.-7g- (+72) D.2.9- (+4.17)
3
C. 3)/9 +(+ /, 2)
3, 3
D.-79-(72)
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C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
5.9- (8.6)? 7.6+ (+2.65)? 1 D
A.59-(-8.6) A.7.6+ (2.65)
B.-5.9-(-8.6) B. 7.6 - (+2.65) 2 D
C.5.9- (+8.6) C.-7.6 + (-2.65)
D.-5.9- (+8.6) D.-7.6 - (-2.65) ) B
a C
5 A
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to c
2 3 3.7-(-4.97? 6.
/10~ (+79)? (49)
, 5 A.-3.7-(-4.9)
A.-710- (79 B.-3.7 - (+4.9) 7 C
2 3 C. 37+ (+4.9)
B. 710- (7o) D.-3.7 + (-4.9) AB
2 3 8. )
C. 710+ (+7)
2 3
D. 710+ (7¢)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
6+ (+2)? 8- (-4)?
A.6-(-2 A.-8-(-4)
B.-6+(-2) B. -8- (+4)
C.6+(-2) C.8+(4)
D.-6+ (+2) D.8+ (-4)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3/9 N (3/4 ’ 2.9+ (4.17)?
s g A.29- (-4.17)
A.-79-(-73) B. 2.9 + (+4.17)
3, 3 C.2.9+(-4.17)
B.-79- (+74) D. 29- (+4.17)
C. 3/9 + (+3/4)
3, 3
D.-79-(72)
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C:h Finding Equivalent Expression with Negative Numbers  Name:

1)

3)

5)

7)

Solve each problem. ANnswers
Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
4.2 + (+7.82)? 1.4-(3.3)?

A.42+(7.82) A.14-(+3.3)
B.-4.2 + (-7.82) B.-14-(-3.3)
C.-4.2+ (+7.82) C.14-(-3.3)
D.-4.2- (+7.82) D. 14+ (+3.3)
Which expression(s) are equivalent to 4) Which expression(s) are equivalent to
-4+ (-7)? 9+ (1)?
A.4+(-7) A.9+(+1)
B.4+(7) B.9-(1)
C.-4-(-7) C.-9- (+1)
D.-4-(7) D.-9-(-1)
Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
VARVAY NAY
3
ATy </7) A.To+ (+7y)
1 3, 1
B. /5 (+/) B. 79- (73)
3
C. 7+ / C.-Vo-(+79)
D. 1/5+ / D.?’/g-(+1/3)
Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3/8 i (3/6 n -4.5 - (+9.6)?
3 3 A.45+(9.6)

A.-7g- (7 B.-4.5-(-9.6)

3 3 C.-45+(-9.6)
B. 73+ (7o) D. 45- (9.6)

3 3
C. 73~ (-79)
D. 3/8 + ('3/6)
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C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
4.2+ (+7.82)? 14-(33)? 1 A
A.42+(7.82) A.14- (+3.3)
B.-4.2 + (-7.82) B.-14-(-3.3) 2 A
C.-4.2+ (+7.82) C.1.4-(-3.3)
D.-4.2 - (+7.82) D. 1.4 + (+3.3) . D
a A
5 D
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
4+ (-7)? 9+ (1) 6. A
A. 4+ (-7) A.9+(+1)
B.4+(7) B.9-(1) 7 D
C.-4-(-7) C.-9- (+1)
D.-4-(7) D.-9- (-1) . C
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
VARVAY NAY
ATy </7) A.To+ (+7y)
1 3, 1
B.-/5- (+7 o) B. 7g- (/3)
C. 7+ / C. -3/9 _(+7)
D. 1/5+ / D.?’/g-(+1/3)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3/8 ] (3/6 ’ 45 - (+9.6)?
A A. 4.5+ (9.6)
A.-7g- (7o) B. -4.5- (-9.6)
3 3 C.-45+(-9.6)
B. 73+ (7o) D. 45- (9.6)
3 3
C. 73~ (-79)
D. 3/8 + ('3/6)
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C:h Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
9+(6)? -4.42 + (-1.16)? 1
A.9-(-6) A.4.42 + (+1.16)
B. 9+ (+6) B. 4.42 - (+1.16) 2
C.-9-(6) C.-4.42 + (+1.16)
D.-9- (+6) D.-4.42 - (+1.16) ,
4,
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
9+ (-5)? 2.82 + (6.67)? 6.
A.-9-(5) A.-2.82 + (+6.67)
B.9-(5) B.-2.82- (6.67) 7.
C.-9-(-5) C.-2.82 +(-6.67)
D.9+(5) D. 2.82 - (-6.67) o
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
25-(-7.3)? _2/6 i (+2/3 5
A.25-(7.3) ) )
B.-25- (+7.3) A. 75+ (-73)
C.25+ (-7.3) 2 2
D. 25+ (7.3) B.-75- (73
2 2
C.75- (+73)
2 2
D.-75-(-73)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-4-(1)? 5.78 - (+9.62)?
A.4-(+1) A.-578 - (-9.62)
B.4-(-1) B.5.78 - (9.62)
C.-4+ (+1) C.-5.78 + (-9.62)
D.-4-(+1) D.5.78 + (+9.62)
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C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
9+ (6)? 442 + (-1.16)? 1 A,B
A.9-(-6) A.4.42 + (+1.16)
B. 9+ (+6) B. 4.42 - (+1.16) 2 D
C.-9-(6) C.-4.42 + (+1.16)
D.-9- (+6) D. -4.42 - (+1.16) N B
4 D
5, D
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
9+ (-5)? 2.82 + (6.67)? 6. B
A.-9-(5) A.-2.82 + (+6.67)
B.9- (5 B.-2.82 - (6.67) 7 D
C.-9-(-5) C.-2.82 + (-6.67)
D. 9+ (5) D. 2.82 - (-6.67) ) B
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
25-(-7.3)? _2/6 Ny +2/3 5
A.25-(7.3) , ,
B.-25- (+7.3) A. 75+ (-73)
C.25+ (-7.3) 2 2
D. 25+ (7.3) B.-75- (73
2
C.7s- (+73)
2 2
D.-75-(-73)
7)  Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-4-(1)? 5.78 - (+9.62)?
A. 4- (+1) A.-5.78 - (-9.62)
B.4-(-1) B.5.78 - (9.62)
C.-4+ (+1) C.-5.78 + (-9.62)
D.-4-(+1) D. 5.78 + (+9.62)
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C:h Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
Yy 4.72 - (+1.4)? 1
g . A. 472+ (-1.4)
A. /7 + (+/5) B.4.72 + (+1.4) 2.
5 1 C.-4.72- (-1.4)
B.-/7+(+75) D. 4.72 + (1.4) ;
.Y+ (7o)
D. 5/7 - (1/5) 4
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
4, 4 3-(-1)? 6.
/g-(-79)?
84( 51 A.3+(+1)
A. 75+ (/5) B.3+(-1) 7.
4 4 C.-3+(-1)
B.-/g+(-/5) D.-3-(-1) .
4 4 :
C.-/5-(-79
D. 4/8 - (+4/5)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
1, 2 2-(-1)?
/- (79)?
41( 3 , A.2-(-1)
A. 74+ (-73) B.2- (+1)
1 2 C.2+(1)
B. 74+ (+73) D. -2+ (+1)
1 2
C.-74-(-73)
D. ']/4 + (+2 3)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
6 4 3+(-9)?
-/10-(/9)?
1: ( 74 A.3-(+9)
A. 710+ (73 B.-3+(-9)
6 4 C.-3-(-9)
B. /19- (-/5) D.-3- (+9)
6 4
C.-/10+ (-7
6 4
D.-/10- (+/7)
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[ Math ] www.CommonCoreSheets.com 6




C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

1)

3)

5)

7)

Solve each problem. Answers
Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
5 1 4,72 - (+1.4)? C
- / - (+ /5 ?
A. 472+ (-1.4)
A / +(+ /5) B. 4.72 + (+1.4) A
C.-4.72- (-1.4)
B. 5/7 +(+ /5) D. 4.72 + (1.4) A
.Y+ (7o)
D. 5/7 (7% 5) A
A
Which expression(s) are equivalent to 4) Which expression(s) are equivalent to
4y A 3-(-1)? D
e (17
A A.3+(+1)
4 4 C.-3+(-1)
B--/8+( 75) D.-3-(-1) A
C. 4/8 (- 4/5)
D. /8 (+4/5)
Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
Y- G 2- (17
L ) A.2-(-1)
A. 74+ (-73) B.2- (+1)
C.2+(0)
B. 1/4 + (+2/3) D. -2+ (+1)
C. 1/4 ('2/3)
D. 1/4 +(+/3)
Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
Fro- oy 3+(-9)?
1; ! , A.3- (+9)
A. 710+ (73 B.-3+(-9)
6 4 C.-3-(-9)
B. /19- (-/5) D.-3- (+9)
C.-/0+ (1)
D. ‘6/10 - (+4/7)
[ Math ] 6 1-8 |88]75]63]50]38]25]13] O |
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C:h Finding Equivalent Expression with Negative Numbers  Name:

1)

3)

5)

7)

Solve each problem. Answers
Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
_4/8 i (2/ )7 2.7 + (+8.66)?

. ) A.-2.7 + (-8.66)
A.-7g-(+73) B.-2.7 - (-8.66)

4 2 C. 2.7 - (-8.66)
B.-/g+(+73) D. -2.7 + (+8.66)
C. 7+ (7o)
D. - (-7)
Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to

2 5 7 4

5+ (+79)? /10~ (-/7)?

2, 5 7 4
A.75-(79) A. 710+ (/)

2 5 7 4
B.75-(+7p) B. /10- (+/7)

2 5 7 4
C. 75+ (+/p) C. 710-(77)

2 5 7 4
D.-75-(-7¢) D.-/10+(-/7)
Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
7-(+1)? 8-(9)?
A.-7-(-1) A.8+(-9)
B.7+(-1) B.8-(-9)
C.-7-(1) C.8+(9
D.7+(0 D.-8-(+9)
Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
2-(7)7 8.8+ (5.1)?
A.2+(+7) A.88-(+5.1)
B.2-(+7) B. 8.8+ (+5.1)
C.2-(-7) C.-8.8-(-5.1)
D.-2-(+7) D.8.8-(-5.1)

1-8 [88]75]|63|50|38[25[13] 0 |
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C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
4y 2 2.7 + (+8.66)? 1 A
-/g-(/3)?
. ) A.-2.7 + (-8.66)
A.-7g-(+7s) B.-2.7 - (-8.66) 2 C
2 C. 2.7 - (-8.66)
B. '4/8 +(+73) D.-2.7 + (+8.66) , D
C. 7+ (7o) |
D. 75- (79 4 A
5 B
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to A
'2/5 + (+5/6)? 7/10 - ('4/7)? °
2, 5 7 4
A.75-(7y) A. 710+ (77) 7. B
B. 2/5 - ("'5/6) B. 7/10 - (+477) BD
2 5 7 4 8 y
C.75+(+/p) C. /10-(72)
D. '2/5 - ('5/6) D. '7/10 + ('4/7)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
7-(+1)? 8- (9)?
A.-7-(-1) A.8+(-9)
B.7+(-1) B. 8- (-9)
C.-7-(1) C.8+(9)
D.7+(0 D.-8-(+9)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
2-(7)? 8.8 + (5.1)?
A.2+(+7) A.88-(+5.1)
B.2-(+7) B. 8.8+ (+5.1)
C.2-(-7) C.-8.8-(-5.1)
D.-2- (+7) D.8.8-(-5.1)

1-8 [88]75]|63|50|38[25[13] 0 |
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C:h Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
-3/7 - (+2/3)? 2/3 + (+2/6)? L
I ANGA A Ty (+7) 2
3 2 2 2
B. 75+ (73) B.-7/3-(-7p)
3, 2 2, 2 3.
C.-/7-(-73) C.75-(-7p)
D. 3/7 - (_2/3) D. -2/3 + (+2/6) 4.
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
-2.6- (+9.2)? 2.6 - (+5.9)? 6.
A.-26+(-9.2) A. 2.6+ (+5.9)
B. 2.6+ (-9.2) B.-2.6- (5.9) 7
C.26-(-9.2) C.26-(-5.9)
D. 2.6+ (9.2) D.-2.6- (-5.9) .
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
S+ (7)) T+ ('1/9)?
ALy (7 ATy (+7)
B. -5+ (-/y) B. 7, + (+7)
c. %+ (7 C.7,+(7y)
6 1 2, 1
D./7-(-/4) D /4'(/9)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3-(9)? 1-(+7)?
A.-3-(+9) A.-1-(-7)
B.-3+(-9) B.1-(-7)
C.3+ (+9) C.1+(-7)
D. 3- (+9) D.-1-(7)

1-8 [88]75]|63|50|38[25[13] 0 |
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C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to A
-3/7 - (+2/3)? 2/3 + (+2/e)?
A. -3/7 - (2/3) A. -2/3 - (+2/6) C
B. 7+ (%) B. 5- (-7, A
c.-7,- (7 C. 75~ (7
D. 74 (-73) D. 73+ (+7g) 5
D
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
26-(+9.2)? 26- (+5.9)? A
A.-26+(-9.2) A. 2.6+ (+5.9)
B. 2.6+ (-9.2) B.-2.6-(5.9) D
C.2.6-(-9.2) C.2.6-(-5.9)
D. 2.6+ (9.2) D.-2.6- (-5.9) C
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
6/7 + (+1/4 ? -2/4 + (-1/9)?
ALy (7 ATy (+7)
B. -6/7 + (-1/4) B. 2/4 + (+1/9)
C. %+ (7 C. 7+ (7
D. 7~ (7 D. 7, (7
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3-(9)? 1-(+7)?
A.-3-(+9) A.-1-(-7)
B.-3+(-9) B.1-(-7)
C.3+ (+9) C.1+(-7)
D. 3- (+9) D.-1-(7)
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C:h Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
7, 2 -5-(-8)? 1
Jo+ (-72)?
8 7( 4)2 A.-5+ (+8)
AT B.-5- (8) 2
7 2 C.-5+ (-8
B. /g + (7)) D.5+ (-8) 3
C. -7/8 + (+2/4) .
D. 7/8 - (2/4) 4.
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
2+ (+6)? 1/ + +2/ 5 6.
A.2-(6) 2 1( 7)2-
B.2-(6) A.-75+(-77) 7.
C.2- (+6) 1 2
D. -2 - (+6) B. 75+ (/%) .
1, 2 :
C.75-(77)
1 2
D.-75-(+75)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
-1.3- (-5.11)? 7+ (-9)?
A.13-(-5.11) A.7+(9)
B.-13+ (+5.11) B.-7-(-9)
C.-1.3- (+5.11) C.-7-(+9)
D. 1.3- (+5.11) D.7-(-9)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-8/10 - (]/5 ? ]/2 - (+]/2)7
A. 8/10 + (+1/5) A 1/2 - ('1/2)
8 1 1, 1
B.-/lo+(+/5) B. /2-(/2)
8 1 1, 1
C. 710+ (79 C.-75- (/)
8 1 1 1
D.-/10- (+75) D. 75-(-75)

1-8 [88]75]|63|50|38[25[13] 0 |
[ Math ] www.CommonCoreSheets.com 9




C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

1)

3)

5)

7)

Solve each problem. Answers
Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
7,2 5-(-8)? D
/8 + (- /4 ?
, ) A.-5+(+8)
A.-7g- (7)) B.-5-(8) A
C.-5+(-8)
B. 7/8"' (2/4) D.5+(-8) A
C. -7/8 + (+2/4)
D. 7/8 - (2/4) B
B
Which expression(s) are equivalent to 4) Which expression(s) are equivalent to
2+ (+6)? 1/2 .\ (+2/ 2 C
A.2-(-6) !
B.2-(6) A.-75+(-77) D
C.2-(+6)
D. -2 - (+6) B. 1/2 + (2/7) B
C.7- (2/7)
D. -]/2 - (+2/7)
Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
-1.3-(-5.11)? -7+ (-9)?
A.13-(-5.11) A.7+(9)
B.-1.3+ (+5.11) B.-7-(-9)
C.-1.3- (+5.11) C.-7-(+9)
D. 13- (+5.11) D.7-(-9)
Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-8/10 - (]/5 ? /2 (+]/2)7
8 1 1 1
A. 710+ (+75) A.-75-(-7>)
B. -8/10 + (+]/5) B. ]/2 - (]/2)
C. 70+ (/) C. 7o (7
D. 710~ (+75) D. 7y (-75)
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C:h Finding Equivalent Expression with Negative Numbers  Name:

1)

3)

5)

7)

Solve each problem. Answers
Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
9+ (-8)? 8/ i +1/ 5
A.9-(+8) 98( i)'

B.-9-(-8) A.7y- (/)
C.-9-(+8) 8 1
D.-9- (8) B.-/5-(-/2)
8, 1
C.-79-(72)
D. '8/9 + (-1/2)
Which expression(s) are equivalent to 4) Which expression(s) are equivalent to
4 5 1.3+ (-7.6)?
/s (-79)?
5 (/1) A.13-(+7.6)
A. -7+ (+75) B.-1.3-(-7.6)
5 C.13+(7.6)
B. /5+(/7) D. 1.3+ (+7.6)
C.- Y5+ (/)
D '4/5 - (+5/7)
Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
_6/9 ] (3/5 5 1.1-(-7.3)?
5 3 A.-1.1+(-7.3)
A.-7y+ (+7s) B.11-(+7.3)
6 3 C.11+(7.3
B. 79~ (-75) D.11+(-7.3)
C. 6/9 + ('3/5)
6 3
D. -/9 + (- /5)
Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3-(8)? 474 + (+7.9)?
A.3+(-8) A.4.74 - (+7.9)
B.-3-(8) B.4.74 - (-7.9)
C.-3+(-8) C.-4.74-(-7.9)
D.3-(-8) D.4.74 + (7.9)
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C:h Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to A
9+ (-8)? 8/9 ) (+1/2)? 1
A.9-(+8) 8, 1
B.-9- (-8) A. 7y~ (7>) 2 A
C.-9-(+8) 8 1
D.-9- (8) B.-/5-(-/2) A
8 1 3
C.-/9- (/)
D. Yo+ (-7y) 4, A
5, D
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
Y 5 13+ (-7.6)? 6. C
-/5-(-/7)?
. . A.13- (+7.6)
A. -7+ (+75) B.-1.3-(-7.6) 7 A
4 5 C.1.3+(7.6)
B. /5 + (/7) D. 13+ (+7.6) B.D
4 5 8. ’
C.-/s+(-77)
D. -4/5 - (+5/7)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
_6/9 ] (3/5 5 1.1-(-7.3)?
3 5 A.-11+(-7.3)
A.-7y+ (+7s) B.11-(+7.3)
6, 3 C.11+(7.3)
B. 79~ (-75) D.11+(-7.3)
C. 6/9 + ('3/5)
6 3
D. -/9 + (- /5)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3-(8)? 4.74 + (+7.9)?
A.3+(-8) A. 474 - (+7.9)
B.-3-(8) B.4.74-(-7.9)
C.-3+(-8) C.-4.74 - (-7.9)
D.3-(-8) D. 4.74 + (7.9)
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